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1. Introduction:

The RESET procedure specified in 25.322 v 3.2.0 is not foolproof with respect to incrementing HFN, especially during simultaneous RESET of peer RLC entities. This proposal aims at solving the problems associated with current RESET procedure. 

2. Problem

Consider the following scenario:

Say prev_rsn1 = prev_rsn2 = 1.(previously received rsns at RLC 1 and RLC2)

Consider following scenario of simultaneous RESET:

1. RLC 1 gets RESET sends RESET PDU(1) [rsn(0)]which is lost.

2. RLC 2 gets RESET and send RESET PDU(2) [rsn(0)] which is received

       correctly at RLC 1.

3. RLC 1 increments HFN and enters DTR and sends an ACK which is 

       received correctly. prev_rsn1 = 0 and prev_rsn2 = 1.

4. Next time when RLC1 gets reset it will transmit RESET PDU(1) with

        rsn(1) and as prev_rsn2 = 1 RLC2 will not increment HFN.

=> sync is lost.

3. Solution: 

To overcome the above mentioned problem we propose to change RLC RESET/RESET ACK  PDU format as shown below.

9.2.1.7
RESET, RESET ACK PDU
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Figure 9.6: RESET, RESET ACK PDU

SN = Transmitter Send state variable.

Procedure:

· If an RLC entity detects a protocol error it sends a RESET PDU with SN in the RESET PDU = VT(S) to the peer entity. It sets VT(A) = VT(S) =  SN and enters into Reset Pending State.

· Upon Reception of RESET PDU the RLC entity changes its VR (R) = VR(H) = SN as indicated in RESET PDU. While changing old VR(H) to SN, sequence numbers are wrapped around, it increments HFN by one. It also sends a RESET ACK PDU with SN = VT(S) and resets VT(A) = VT(S). All the transmitter buffers are flushed.

· Upon reception of RESET ACK PDU in Reset Pending State RLC entity changes its VR (R) = VR(H) = SN as indicated in RESET ACK PDU. While changing VR(H) to SN, sequence numbers are wrapped around it increments HFN by one. Also the transmitter buffers are flushed.

· RLC shall ignore RESET ACK PDU received in DTR state.

4. Conclusion 

The procedure described in the proposal eliminates the problems associated with the RESET procedure.
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